Output layer:

Hidden layer:

Input layer:

Sigmoid activation function

Learning rate 0.7
Fill in the table independently of prior weight adjustments
https://www.tinkershop.net/ml/sigmoid calculator.html

repeat
for each ¢ in examples do
for each node j in the input layer do a; r;e]
for { =2to M do
in; — Z}\ W, q
a;, — g(in;)
for each node i in the output layer do
A —g'(in,) x (yile] = ay)
for (=M —1to1do
for each node j in layer ¢ do
AJ' — g’(hlj) Zz ”'J, Az‘
for each node : in layer / + 1 do
”’j.,‘ — WN + «a X a; X A,‘

until some stopping criterion is satisfied

XOR FFNet Perceptron

X1 | X2 hy | h, h’ h’, o o’ E AWhio | AWhzo = Whio Wh2.0
0 0
0 1
1 0
1 1
X1 X2 AWyi.n1 AWy1.n2 Wxi-h1 Wyi-h2 AWya.n1 AWyz.n2 Wi2-h1 Wy2-h2
0 0
0 1
1 0
1 1




